Ch 4 & 5 Misc Review Problems
SOLUTIONS:

3. (a) a=140,b=98
(b) C = 140 + (98)(5) = $630
(c} 826=140+98x => x=7 hours

4. (a) i. Domain = {x|xe R}, Range = {y]y > -5}
ii. x-intercept: -1, 5; y-intercept = -25/9
ili. Function
{b)i. Domain = {x|xe R}, Range = {y|y = 1 or -3}
ii. x-intercept: none; y-intercept = 1

ili. Function

6.(d B (b)C (c)A (d)D

5. {b) Since the parabola is symmetric, if 7 is an intercept (which is 3 units away from the axis of 4) then 1 is
also an intercept (since it is 3 units away from 4). You also have a y-intercept of —2, which means a
point of (0, —2)

y=alx—#)x-#)
y=ax—1}x-7)
—2=g(0-1)(0-7)
-2=7a

a=-2/7

y==2/7 (x—1){x—7)

7. The graph is symmetric around x = 3. So since there is an intercept at 1 (2 units away from x = 3) then there
is also an intercept at (5, 0). Soa=5

Since the y-intercept is at (0, 10) and that is 3 units away from the vertex, then the point (b, 10) is also
symmetric so it must also be 3 units away from the vertex. So the x-value is 3 units away from (3, —-8).
So b= 6.
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Worked solutions: Chapter 4
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